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What is the increasing order of chemical reactivity of the hydrides?
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Which metal can evolve hydrogen gas by the action of cold dilute HNO3 ?

STST Y HNO, oI (Fod [RAfFIT RO N S357F 3?2
H,0, + D;0—> X+Y; WhatareXandY?

H,0,+D,0 > X+Y; X a3: Y & &

What will be the increasing order of ionic radius of the solvated ions Li+, Na+, K+ and Cs+ ?
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What will be the sequence of increasing acidic strength of H3POz, H3PO3 and H3POas ?
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Which is not respond in borax bead test?
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What is the increasing order of electronegativity of C, Si, Ge and Sn?
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C,Si, Ge 9 Sn (F ICRFEIHSGH SHFT ST TS ?
Among the following which will responds in flame test?

fawa offg Jey @@ frrr T3iwr @F?

What is the order of increasing reducing property of Be, Mg, Ca, Ba, and Sr?

Be, Mg, Ca, Ba, 3% Sr a7 fIonged wf SHwat & @72

What is the increasing tendency of BF3, BCl;, and BBrs;to behave as Lewis acid?

BFs, BCl3, 933 BBr3 47 f3Y 9&s¥ J%d Faib 7
In which compound is P in the highest oxidation state?
T (FE0E P’ AT ST AT NHIEE?

Which of the following is not known?
e (@@ (wate TSI I «?

Three reactions involving H2PO4- are

(1) H3PO4 + H20 — H30+

(i) H2PO4- + H20 — HPO42-
(iii) H2PO4- + OH- — H3PO4

: In which of the above does H2PO4- act as an acid?

fama @ [RfFTE H2PO4- smfTs ReTE I F@E?
(i) H3PO4 + H20 — H30+ + H2PO4-

(i) H2PO4- + H20 — HPO42- + H30+

(iif) H2PO4- + OH- — H3PO4 + O2-

Among the following which is wrong for flame test?
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H2PO4-
H30+
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15 What are the components of Duralumin ?

TSI AT TS F &7



